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Roll No. ....................................

MAEC-10 (M.A. Economics)

Second Year, Examination-2015

MAEC-08

({ks=kh; vkfFkZd fodkl ,oa fu;kstu)
Time : 3 Hours Maximum Marks : 60

Note : This paper is of sixty (60) marks divided into three (03)
sections A, B, and C. Attempt the questions contained
in these sections according to the detailed instructions
given therein.

uksV % ;g iz'u&i=k lkB (60) vadksa dk gS tks rhu (03) [kaMksa d] [k rFkk
x esa foHkkftr gSA izR;sd [k.M esa fn, x, foLr`r funsZ'kksa ds
vuqlkj gh iz'uksa dks gy djuk gSA

Section - A @ [k.M&d

(Long Answer Type Questions)@(nh?kZ mÙkjksa okys iz'u)

Note : Section 'A' contains four (04) long-answer-type questions
of fifteen (15) marks each. Learners are required to
answer any two (02) questions only.

(2×15=30)

uksV % [k.M ̂ d* esa pkj (04) nh?kZ mÙkjksa okys iz'u fn;s x, gSa] izR;sd
iz'u ds fy, iUæg vad fu/kZfjr gSa A f'k{kkfFkZ;ksa dks buesa ls
dsoy nks iz'uksa ds mÙkj nsus gSa A
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1. Critically discuss Sargeant Florence's Inductive theory of

industrial location.

lktsZUV ÝyksjsUl }kjk izfrikfnr vkS|ksfxd LFkkuh;dj.k ds

vkxeukRed fl¼kUr dh vkykspukRed O;k[;k dhft;sA

2. Critically examine Hirshman's theory of unbalanced economic
growth and discuss its suitability for under developed countries.

g"kZeSu ds vlarqfyr fodkl ds fl¼kUr dk vkykspukRed ijh{k.k
dhft;s rFkk vYifodflr ns'kksa ds fy, bldh vi;qDrrk crkb;sA

3. Give a short review of the industrial progress of India during

the planned economic development.

;kstuko¼ vkfFkZd fodkl ds ;qx esa gksus okyks Hkkjr dh vkS|ksfxd
izxfr dh laf{kIr O;k[;k dhft;sA

4. Evaluate the importance and limitations of Regional Planning
of India.

Hkkjr esa {ks=kh; fu;kstu ds egRo o lhekvksa dk foospu dhft;sA

Section - B @ [k.M&[k

(Short Answer Type Questions) (y?kq mÙkjksa okys iz'u)

Note : Section 'B' contains eight (08) short-answer-type
questions of five (05) marks each. Learners are required
to answer any four (04) questions only. (4×5=20)

uksV % [k.M ̂ [k* esa vkB (08) y?kq mÙkjksa okys iz'u fn;s x, gSa] izR;sd
iz'u ds fy, ik¡p (05) vad fu/kZfjr gaS A f'k{kkfFkZ;ksa dks buesa
ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSa A
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1. Clarify characteristics of monopolitic competition.

,dkf/dkjkRed izfr;ksfxrk dh fo'ks"krk,aA

2. Clarify Alfred Weber's theory of industrial location.

vYizsQM cscj ds vkS|ksfxd LFkkuh;dj.k fl¼kUr Li"V djsaA

3. Clarify economies and diseconomies of centralisation.

dsUnzh;dj.k dh ferO;f;rk,a ,oa vferO;f;rk,a Li"V djsaA

4. Explain industrial complex analysis.

vkS|ksfxd dEiySDl fo'ys"k.k dks le>kb;sA

5. Evaluate the gravitational model.

xq:Rokd"kZ.k ekWMy dk ijh{k.k dhft;sA

6. Clarify Parameters of Regional Development.

{ks=kh; fodkl ds izfreku Li"V djsaA

7. Clarify Regional imbalances in the development of socio-

economic basic structure.

lkekftd&vkfFkZd <kaps ds fodkl esa {ks=kh; vlarqyu Li"V djsaA

8. Write Short notes on Regional Planning.

{ks=kh; fu;kstu ij ,d laf{kIr fVIi.kh fy[ksaA

Section - C @ [k.M&x

(Objective Type Questions) @ (oLrqfu"B iz'u)

Note : Section 'C' contains ten (10) objective-type questions of
one (01) mark each. All the questions of this section are
compulsory. (10×1=10)
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uksV % [k.M ^x* esa nl (10) oLrqfu"B iz'u fn;s x, gSa] izR;sd iz'u
ds fy, ,d (01) vad fu/kZfjr gS A bl [k.M ds lHkh iz'u
vfuok;Z gSa A

Choose the correct option :

lgh fodYi pqfu;s %

1. Which of the following conditions are met in the long run
equilibrium in monopolistic competition where the firm is
earning only normal profit ?

(a) MC = AC (b) P = ATC

(c) P = MR (d) P = MC

,dkf/dkjkRed izfr;ksfxrk ds vUrxZr fdlh iQeZ ds nh?kZdkyhu
larqyu] tcfd og lkekU; ykHk dek jgh gks] fuEufyf[kr esa ls
dkSu lh 'krZ ykxw gksrh gS\

(v) MC = AC (c) P = ATC

(l) P = MR (n) P = MC

2. Under development has been a result of ............ factors.

(a) Economic

(b) Social

(c) Political

(d) Economical, Social and Political

vYifodkl ifj.kke gS ----------------- dkjdksa dkA

(v) vkfFkZd

(c) lkekftd

(l) jktuSfrd

(n) vkfFkZd] lkekftd rFkk jktuSfrd
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3. Rolling plan concept was propounded by :

(a) J. K. Galbraith (b) P. N. Bhagwati

(c) Gurnar Myrdal (d) J. R. D. Tata

vuojr fu;kstu fopkj/kjk dk izfriknu fd;k x;k %

(v) ts- ds- xkyczsFk (c) ih- ,u- Hkoxrh

(l) xqukZj feMZy (n) ts- vkj- Mh- vkVk

4. Which one of the following is not an economic factor of
development ?

(a) Human Resource

(b) Capital formation

(c) Natural resources

(d) Technical know ledge and general education

fuEufyf[kr esa ls dkSu lk fodkl dk vkfFkZd dkjd ugha gS\

(v) ekuo lalk/u (c) iwath fuekZ.k

(l) izkd`frd lalk/u (n) rduhdh Kku rFkk lkekU; f'k{kk

5. Who wrote the book "Planned Economy for India"?

(a) Sir M. Vishweshariya (b) M. N. Roy

(c) J.R.D. Tata (d) None of these

fuEufyf[kr esa ls dkSu "Planned Economy for India" ds ys[kd
gSa\

(v) ,e- fo'os'kjS;~;k (c) ,e- ,u- jk;

(l) ts- vkj- Mh- VkVk (n) mijksDr esa dksbZ ugha



6128/131/80

6. Regional/State planning is related with :

(a) Big countries

(b) Small countries

(c) Trouble shooting countries

(d) None of these

{ks=kh;@izknsf'kd fu;kstu dk lEcU/ gS%

(v) cM+s jk"Vªksa (c) NksVs jk"Vªksa

(l) ok/k fuokjd jk"Vªksa (n) bu ls esa dksbZ ugha

7. 'The first will get first and the last will get or not' This statement
is true for which type of planning ?

(a) Static and Dynamic Planning

(b) Centralised and Decentralised Planning

(c) Planning from above and planning from below

(d) Physical and Financial Planning

^ifgys vkvks ifgys ikvks rFkk vUr esa vkvksxs rks feysxk ;k
ugha*A ;g dFku fdl izdkj ds fu;kstu ds fy, lgh gS\

(v) LFkSfrd rFkk izkoSfxd fu;kstu

(c) dsfUnzr ,oa fodsfUnzr fu;kstu

(l) Åij ls fu;kstu ,oa uhps ls fu;kstu

(n) HkkSfrd ,oa foÙkh; fu;kstu
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8. What type of controls are needed to be imposed by the state
for the successful functioning of the planned economy :

(a) Investment Control

(b) Consumption Control

(c) Foreign Trade Control

(d) All of these

fu;ksftr vFkZO;oLFkk ds dq'ky lapkyu ds fy, jkT; dks dkSu&dkSu
ls fu;U=k.kksa dk mi;ksx djuk pkfg, %

(v) fofu;ksx fu;U=k.k

(c) miHkksx fu;U=k.k

(l) fons'kh fofue; fu;U=k.k

(n) ;s lHkh

9. The solution to the problem of unemployment in India can be
found only through.

(a) Education of female child

(b) Higher economic growth

(c) Population Control

(d) all these

Hkkjr esa csjkstxkjh dh leL;k dk funku izkIr fd;k tk ldrk
gS %

(v) yM+fd;ksa dks f'kf{kr djds

(c) vkfFkZd lao`f¼ dh nj c<+kdj

(l) tula[;k fu;a=k.k }kjk

(n) bu lHkh
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10. Who is the chairman of 'NITI Aayog' of India ?

(a) Prime Minister

(b) Governor Reserve Bank of India

(c) Finance Minister

(d) Defence Minister

Hkkjr ds uhfr (NITI) vk;ksx ds vè;;{k dkSu gSa\

(v) iz/kuea=kh (c) fjtoZ cSad dk xoZuj

(l) foÙkea=kh (n) j{kk ea=kh


